Nonlinear Functional Analysis and Applications Vol. 21, No. 3 (2016), pp. 413-424

http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright \bigodot 2016 Kyungnam University Press



LOCAL CONVERGENCE OF SOME FIFTH AND SIXTH ORDER ITERATIVE METHODS

Ioannis K. Argyros¹ and Santhosh George²

¹Department of Mathematicsal Sciences Cameron University, Lawton, OK 73505, USA e-mail: ioannisa@cameron.edu

²Department of Mathematical and Computational Sciences National Institute of Technology Karnataka, India e-mail: sgeorge@nitk.ac.in

Abstract. We present a local convergence analysis for some families of fifth and sixth order methods in order to approximate a locally unique solution of a nonlinear equation in a Banach space setting. Earlier studies [19] have used hypotheses on the fifth Fréchet derivative of the operator involved. We use hypotheses only on the first Fréchet derivative in our local convergence analysis. This way, the applicability of these methods is extended. Moreover the radius of convergence and computable error bounds on the distances involved are also given using Lipschitz constants. Numerical examples illustrating the theoretical results are also presented in this study.

1. INTRODUCTION

In this paper we are concerned with the problem of approximating a solution x^* of the equation

$$F(x) = 0, \tag{1.1}$$

where F is a Fréchet-differentiable operator defined on a convex subset D of a Banach space X with values in a Banach space Y.

Many problems in Computational Sciences and other disciplines can be brought in a form like (1.1) using mathematical modeling [5, 7, 10, 21]. It is known that, the solutions of these equations can rarely be found in closed

⁰2010 Mathematics Subject Classification: 65D10, 65D99, 47J25, 47J05.

⁰Keywords: Banach space, Newton's method, Fréchet derivative, Kung and Traub conjecture.

⁰Received November 10, 2015. Revised March 31, 2016.

form. So, most solution methods for these equations are iterative. Newtonlike iterative methods [1]-[21] are famous for approximating a solution of the equation (1.1). These methods are usually studied based on: semi-local and local convergence. The semi-local convergence matter is, based on the information around an initial point, to give conditions ensuring the convergence of the iterative procedure; while the local one is, based on the information around a solution, to find estimates of the radii of convergence balls [1]-[21].

In this paper, we introduce the iterative method defined for each $n = 0, 1, 2, \cdots$, by

$$y_n = x_n - F'(x_n)^{-1} F(x_n),$$

$$z_n = y_n + \frac{1}{2} F'(x_n)^{-1} F(x_n) - (3F'(y_n) - F'(x_n))^{-1} F(x_n),$$

$$x_{n+1} = z_n - (bF'(x_n) + cF'(y_n))^{-1} (F'(x_n) + aF'(y_n))F'(x_n)^{-1} F(z_n),$$

(1.2)

where x_0 is an initial point, S is \mathbb{R} or \mathbb{C} and $a, b, c \in S$ are given parameters to generate a sequence $\{x_n\}$ approximating x^* . Method (1.2) has been studied in [19] in the special case when $X = Y = \mathbb{R}$ and $a, b, c \in \mathbb{R}$. In particular, it was shown that the convergence order of method (1.2) is sixth, if $a \neq -1, b =$ $-\frac{1}{2}(3a+1), c = \frac{1}{2}(5a+3)$ and fifth, if a = -1 for functions that are four times differentiable in a neighborhood containing x^* . Notice however that method (1.2) uses only the first derivative. The requirement that $F^{(i)}, i = 1, 2, 3, 4$ exists limits the applicability of this method. As a motivational example, define function f on $D = \overline{U}(1, \frac{3}{2})$ by

$$f(x) = \begin{cases} x^3 \ln x^2 + x^5 - x^4, & x \neq 0, \\ 0, & x = 0. \end{cases}$$
(1.3)

Choose $x^* = 1$. We also have that

$$f'(x) = 3x^2 \ln x^2 + 5x^4 - 4x^3 + 2x^2,$$

$$f''(x) = 6x \ln x^2 + 20x^3 + 12x^2 + 10x$$

and

$$f'''(x) = 6\ln x^2 + 60x^2 - 24x + 22.$$

Notice that f'''(x) is unbounded on D. Hence, the results in [19], cannot apply to show the convergence of method (1.2) or its special cases requiring hypotheses on the fifth derivative of function F or higher. Notice that, inparticular there is a plethora of iterative methods for approximating solutions of nonlinear equations [1]-[21]. These results show that if the initial point x_0 is sufficiently close to the solution x^* , then the sequence $\{x_n\}$ converges to x^* . But how close to the solution x^* the initial guess x_0 should be? These local results give no information on the radius of the convergence ball for the corresponding method.

Moreover, notice that the convergence ball of high convergence order methods is usually very small and in general decreases as the convergence order increases. Our approach establishes the local convergence result under hypotheses only on the first derivative. Our approach can give a larger convergence ball than the earlier studies, under weaker hypotheses. The same technique can be used to other methods.

The paper is organized as follows. In Section 2 we present the local convergence analysis of method (1.2). The numerical examples are given in the concluding Section 3.

2. Local convergence

We present the local convergence analysis of method (1.2) in this section. Let $L_0 > 0, L > 0, M > 0, a, b, c \in S$ be given parameters with $b + c \neq 0$. It is convenient for the local convergence analysis of method (1.2) that follows to define some functions and parameters. Define function g_1 on the interval $[0, \frac{1}{L_0})$ by

$$g_1(t) = \frac{Lt}{2(1-L_0t)}$$

and parameter r_1 by

$$r_1 = \frac{2}{2L_0 + L}$$

Then, we have that $g_1(r_1) = 1$ and $0 \le g_1(t) < 1$ for each $t \in [0, r_1)$. Define functions p and h_p on the interval $[0, r_1)$ by

$$p(t) = \frac{L_0}{2}(1+3g_1(t))t$$

and set

$$h_p(t) = p(t) - 1.$$

We have that $h_p(0) = -1 < 0$ and $h_p(t) \longrightarrow +\infty$ as $t \longrightarrow \frac{1}{L_0}^{-}$. Then, it follows from the Intermediate Value Theorem that function h_p has zeros in the interval $(0, \frac{1}{L_0})$. Denote by r_p the smallest such zero.

• Case $2L_0 \leq L$

Then, we have that $h_p(r_1) = 2L_0r_1 - 1 \le 0$, so

 $r_1 \leq r_p$.

I. K. Argyros and S. George

Define function on the interval $[0, r_1)$ by

$$g_2(t) = \frac{1}{2(1 - L_0 t)} \left[L + \frac{3L_0 M (1 + g_1(t))}{2(1 - p(t))}\right]t$$

and set

$$h_2(t) = g_2(t) - 1$$

We get for $r_1 < r_p$, $h_2(0) = -1$ and

$$h_2(r_1) = \frac{Lr_1}{2(1-L_0r_1)} - 1 + \frac{3L_0M(1+g_1(r_1))r_1}{2(1-p(r_1))}$$

= $\frac{3L_0Mr_1}{1-p(r_1)} > 0$, (by the definition of r_1)

and for $r_1 = r_p \ h_2(t) \longrightarrow +\infty$ as $t \longrightarrow r_1^-$. In either case function h_2 has zeros in the interval $(0, r_1)$. Denote by r_2 the smallest such zero.

• Case $L < 2L_0$

We have that $h_p(r_1) > 0$, so

 $r_p < r_1$.

Define function g_2 as above but on the interval $[0, r_p)$. Then, we get that $h_2(0) = -1 < 0$ and $h_2(t) \longrightarrow +\infty$ as $t \longrightarrow r_p^-$. Hence, again function h_2 has a smallest zero in the interval $(0, r_p)$. Denote such zero also by r_2 . Moreover, define functions q and h_q on the interval $[0, \frac{1}{L_0})$ by

$$q(t) = \frac{L_0}{|b+c|}(|b| + |c|g_1(t))t$$

and

$$h_q(t) = q(t) - 1.$$

We have that $h_q(0) = -1 < 0$ and $h_q(t) \longrightarrow +\infty$ as $t \longrightarrow \frac{1}{L_0}^-$. Then, function h_q has a smallest zero in the interval $(0, \frac{1}{L_0})$ denoted by r_q .

• Case $\frac{L_0(|b|+|c|)r_1}{|b+c|} \leq 1$ We have that $h_q(r_1) = \frac{L_0(|b|+|c|)r_1}{|b+c|} - 1 \leq 0$ so, $r_1 \leq r_q$.

Define functions g_3 and h_3 on the interval $[0, r_2)$ by

$$g_3(t) = \left[1 + \frac{(L_0 t + |a| L_0 g_1(t)t + |1 + a|)M}{|b + c|(1 - L_0 t)(1 - q(t))}\right]g_2(t)$$

and set

$$h_3(t) = g_3(t) - 1.$$

Then, we get that $h_3(0) = -1 < 0$ and $h_3(t) > 0$. Hence, function h_3 has a smallest zero in the interval $(0, r_2)$ denoted by r_3 .

• Case $\frac{L_0(|b|+|c|)r_1}{|b+c|} > 1$ Then, $h_q(r_1) > 0$, so

$$r_q < r_1$$
.

Define function g_3 on the interval $[0, r_q)$. Then, $h_3(0) = -1 < 0$ and $h_3(t) \longrightarrow +\infty$ as $t \longrightarrow r_q^-$. That is, in this case h_3 has a smallest zero denoted by r_3 .

Hence, for each $t \in [0, r_3)$

$$0 \le g_1(t) < 1,$$
 (2.1)

$$0 \le g_2(t) < 1, \ 0 \le p(t) < 1, \ 0 \le q(t) < 1$$

$$(2.2)$$

and

$$0 \le g_3(t) < 0. \tag{2.3}$$

Let $U(w, \rho)$, $\overline{U}(w, \rho)$ stand for the open and closed ball, respectively, with center $w \in X$ and of radius $\rho > 0$. Next, using the above notation we present the local convergence result for method (1.2).

Theorem 2.1. Let $F : D \subset X \longrightarrow Y$ be a Fréchet-differentiable operator. Suppose that there exist $x^* \in D$, $L_0 > 0$, L > 0, $M \ge 1$, $a, b, c \in S$ with $b + c \ne 0$ such that for each $x, y \in D$,

$$F(x^*) = 0, \ F'(x^*)^{-1} \in L(Y, X),$$
(2.4)

$$||F'(x^*)^{-1}(F'(x) - F'(x^*))|| \le L_0 ||x - x^*||,$$
(2.5)

$$|F'(x^*)^{-1}(F'(x) - F'(y))|| \le L||x - y||,$$
(2.6)

$$\|F'(x^*)^{-1}F'(x)\| \le M \tag{2.7}$$

and

$$\bar{U}(x^*, r_3) \subseteq D, \tag{2.8}$$

where r_2 is defined previously. Then, the sequence $\{x_n\}$ generated by method (1.2) for $x_0 \in U(x^*, r_3) - \{x^*\}$ is well defined, remains in $U(x^*, r_3)$ for each $n = 0, 1, 2, \cdots$, and converges to x^* . Moreover, the following estimates hold

$$||y_n - x^*|| \le g_1(||x_n - x_0||) ||x_n - x^*|| < ||x_n - x^*|| < r_3,$$
(2.9)

$$||z_n - x^*|| \le g_2(||x_n - x_0||) ||x_n - x^*|| < ||x_n - x^*||$$
(2.10)

and

$$||x_{n+1} - x^*|| \le g_3(||x_n - x^*||) ||x_n - x^*|| < ||x_n - x^*||, \qquad (2.11)$$

where the g functions are defined previously. Furthermore, for $T \in [r_3, \frac{2}{L_0})$ the limit point x^* is the only solution of the equation F(x) = 0 in $\overline{U}(x^*, T) \cap D$.

Proof. The proof uses induction to show estimates (2.9)–(2.11). By the definition of r_3 , the hypothesis $x_0 \in U(x^*, r_3) - \{x^*\}$ and (2.5), we get that

$$\|F'(x^*)^{-1}(F'(x_0) - F'(x^*))\| \le L_0 \|x_0 - x^*\| \le L_0 r_3 < 1.$$
(2.12)

It follows from (2.12) and the Banach Lemma on invertible operators [5, 7, 15] that $F'(x_0)^{-1} \in L(Y, X)$ and

$$\|F'(x_0)^{-1}F'(x^*)\| \le \frac{1}{1 - L_0 \|x_0 - x^*\|}.$$
(2.13)

Hence, y_0 is well defined by the first sub-step of method (1.2) for n = 0. We can write by (2.4) that

$$F(x_0) = F(x_0) - F(x^*) = \int_0^1 F'(x^* + \theta(x_0 - x^*))(x_0 - x^*)d\theta.$$
(2.14)

Notice that $||x^* + \theta(x_0 - x^*) - x^*|| = \theta ||x_0 - x^*|| < r_3$ for each $\theta \in [0, 1]$. That is $x^* + \theta(x_0 - x^*) \in U(x^*, r) \subset D$. Then, using (2.7) and (2.14) we get that

$$\|F'(x^*)^{-1}F(x_0)\| = \|\int_0^1 F'(x^* + \theta(x_0 - x^*))(x_0 - x^*)d\theta\|$$

$$\leq M \|x_0 - x^*\|.$$
 (2.15)

We also have (2.1), (2.6), (2.13) and the first sub step of method (1.2) for n = 0 that

$$\begin{aligned} \|y_0 - x^*\| &\leq \|F'(x_0)^{-1}F'(x^*)\| \|F'(x^*)^{-1} \int_0^1 [F'(x^* + \theta(x_0 - x^*)) \\ &-F'(x_0)] d\theta \| \|x_0 - x^*\| \\ &\leq \frac{L \|x_0 - x^*\|^2}{2(1 - L_0 \|x_0 - x^*\|)} \leq g_1(\|x_0 - x^*\|) \|x_0 - x^*\| \\ &< \|x_0 - x^*\| < r_3, \end{aligned}$$

$$(2.16)$$

which shows (2.9) for n = 0 and $y_0 \in U(x^*, r_3)$. Next, we show that $3F'(y_0) - F'(x_0)$ is invertible. Using the definition of function p, (2.2), (2.4) and (2.16), we have that

$$\begin{aligned} \|(2F'(x^*))^{-1}(3F'(y_0) - F'(x_0) - 2F'(x^*))\| \\ &\leq \frac{1}{2}[3\|F'(x^*)^{-1}(F'(y_0) - F'(x^*))\| \\ &+ \|F'(x^*)^{-1}(F'(x_0) - F'(x^*))\|] \\ &\leq \frac{L_0}{2}[3\|y_0 - x^*\| + \|x_0 - x^*\|] \\ &\leq \frac{L_0}{2}[1 + g_1(\|x_0 - x^*\|)]\|x_0 - x^*\|] \\ &= p(\|x_0 - x^*\|) < 1. \end{aligned}$$
(2.17)

It follows from (2.17) that $3F'(y_0) - F'(x_0)$ is invertible and

$$\|(3F'(y_0) - F'(x_0))^{-1}F'(x^*)\| \leq \frac{1}{2(1 - p(\|x_0 - x^*\|))}.$$
 (2.18)

Hence, z_0 is well defined by the second sub-step of method (1.2) for n = 0. We can write

$$z_0 = y_0 + (\frac{1}{2}F'(x_0)^{-1} - (3F'(y_0) - F'(x_0))^{-1})F(x_0).$$
 (2.19)

In view of (2.2), (2.4), (2.13), (2.15), (2.16), (2.18) and (2.19), we get in turn that

$$\begin{aligned} \|z_{0} - x^{*}\| &\leq \|y_{0} - x^{*}\| + \frac{3}{4} \|F'(x_{0})^{-1}F'(x^{*})\| \\ &\times \|(3F'(y_{0}) - F'(x_{0}))^{-1}F'(x^{*})\| \|F'(x^{*})^{-1}(F'(y_{0}) - F'(x^{*}))\| \\ &+ \|F'(x^{*})^{-1}(F'(x_{0}) - F'(x^{*}))\| \|F'(x^{*})^{-1}F(x_{0})\| \\ &\leq \frac{L\|x_{0} - x^{*}\|^{2}}{1 - L_{0}\|x_{0} - x^{*}\|} + \frac{3L_{0}(\|y_{0} - x^{*}\| + \|x_{0} - x^{*}\|)M\|x_{0} - x^{*}\|}{4(1 - L_{0}\|x_{0} - x^{*}\|)(1 - p(\|x_{0} - x^{*}\|))} \\ &\leq \frac{L\|x_{0} - x^{*}\|^{2}}{1 - L_{0}\|x_{0} - x^{*}\|} + \frac{3L_{0}M(1 + g_{1}(\|x_{0} - x^{*}\|))\|x_{0} - x^{*}\|^{2}}{4(1 - L_{0}\|x_{0} - x^{*}\|)(1 - p(\|x_{0} - x^{*}\|))} \\ &= g_{2}(\|x_{0} - x^{*}\|)\|x_{0} - x^{*}\| \\ &< \|x_{0} - x^{*}\| < r_{3}, \end{aligned}$$

$$(2.20)$$

which shows (2.10) for n = 0 and $z_0 \in U(x^*, r_3)$. Next, we show that $bF'(x_0) + cF'(y_0)$ is invertible. Indeed, using (2.2), (2.4) and (2.16), we obtain that

$$\begin{aligned} \|((b+c)F'(x^*))^{-1}(bF'(x_0) + cF'(y_0) - (b+c)F'(x^*))\| \\ &\leq |b+c|^{-1}[|b|||F'(x^*)^{-1}(F'(x_0) - F'(x^*))\|] \\ &+|c|||F'(x^*)^{-1}(F'(y_0) - F'(x^*))\|] \\ &\leq |b+c|^{-1}L_0[|b|||x_0 - x^*\| + |c|||y_0 - x^*\|] \\ &\leq |b+c|^{-1}L_0[|b| + |c|g_1(||x_0 - x^*\|)]||x_0 - x^*\| \\ &= q(||x_0 - x^*\|) < 1. \end{aligned}$$

$$(2.21)$$

It follows from (2.21) that $bF'(x_0) + cF'(y_0)$ is invertible and

$$\|(bF'(x_0) + cF'(y_0))^{-1}F'(x^*)\| \leq \frac{1}{|b + c|(1 - q(\|x_0 - x^*\|))}.$$
 (2.22)

Hence, x_1 is well defined by the third sub-step of method (1.2) for n = 0. Using (2.3), (2.5), (2.13), (2.15) (for $x_0 = z_0$), (2.22) and the third sub-step of method (1.2) for n = 0, we get in turn that

$$\begin{aligned} \|x_{1} - x^{*}\| &\leq \|z_{0} - x^{*}\| + \|F'(x_{0})^{-1}F'(x^{*})\| \|(bF'(x_{0}) + cF'(y_{0}))^{-1}F'(x^{*})\| \\ &\times [\|F'(x^{*})^{-1}(F'(x_{0}) - F'(x^{*}))\| + |a|\|F'(x^{*})^{-1}(F'(y_{0}) - F'(x^{*}))\| \\ &+ |1 + a|\|F'(x^{*})^{-1}F'(x^{*})\|]\|F'(x^{*})^{-1}F(z_{0})\| \\ &\leq [1 + \frac{(L_{0}\|x_{0} - x^{*}\| + |a|L_{0}\|y_{0} - x^{*}\| + |1 + a|)M}{|b + c|(1 - L_{0}\|x_{0} - x^{*}\|)(1 - q(\|x_{0} - x^{*}\|))]} \\ &\times g_{2}(\|x_{0} - x^{*}\|)\|x_{0} - x^{*}\| \\ &= g_{3}(\|x_{0} - x^{*}\|)\|x_{0} - x^{*}\| \\ &< \|x_{0} - x^{*}\| < r_{3}, \end{aligned}$$

$$(2.23)$$

which shows (2.11) for n = 0 and $x_1 \in U(x^*, r_3)$. By simply replacing x_0, y_0, z_0, x_1 by x_k, y_k, z_k, x_{k+1} in the preceding estimates we arrive at (2.9)–(2.11). Using the estimate $||x_{k+1} - x^*|| < ||x_k - x^*|| < r_3$, we deduce that $\lim_{k\to\infty} x_k = x^*$ and $x_{k+1} \in U(x^*, r_3)$. Finally, to show the uniqueness part, let $Q = \int_0^1 F'(y^* + \theta(x^* - y^*))d\theta$ for some $y^* \in \overline{U}(x^*, T)$ with $F(y^*) = 0$. Using (2.5) we get that

$$||F'(x^*)^{-1}(Q - F'(x^*))|| \le \int_0^1 L_0 ||y^* + \theta(x^* - y^*) - x^*||d\theta|$$
$$\le \frac{L_0}{2} ||x^* - y^*|| = \frac{L_0}{2}T < 1.$$

It follows that linear operator Q is invertible. Then, from the identity

$$0 = F(x^*) - F(y^*) = Q(x^* - y^*),$$

we conclude that $x^* = y^*$.

Remark 2.2. In Theorem 2.1 we used the hypothesis $b + c \neq 0$ (see also (2.22)). To cover the case b + c = 0, function q must be replaced by \bar{q} defined by

$$\bar{q}(t) = L_0(1 + g_1(t))t.$$

Then as in (2.21), we get that

$$\begin{aligned} \|(F'(x^*))^{-1}(F'(x_0) - F'(y_0))\| \\ &\leq \|F'(x^*)^{-1}(F'(x_0) - F'(x^*))\| + \|F'(x^*)^{-1}(F'(y_0) - F'(x^*))\| \\ &\leq L_0[\|x_0 - x^*\| + \|y_0 - x^*\|] \\ &\leq L_0[1 + g_1(\|x_0 - x^*\|)]\|x_0 - x^*\| \\ &= \bar{q}(\|x_0 - x^*\|). \end{aligned}$$

Moreover, replace function g_3 by \bar{g}_3 defined by

$$\bar{g}_3(t) = \left[1 + \frac{(L_0 t + |a| L_0 g_1(t)t + |1 + a|)M}{|b|(1 - L_0 t)(1 - \bar{q}(t))}\right]g_2(t).$$

Then, instead of (2.23), we obtain that

$$\begin{aligned} \|x_1 - x^*\| \\ &\leq \left[1 + \frac{(L_0 \|x_0 - x^*\| + |a|L_0 g_1(\|x_0 - x^*\|) \|x_0 - x^*\| + |1 + a|)M}{|b|(1 - L_0 \|x_0 - x^*\|)(1 - \bar{q}(\|x_0 - x^*\|))} \right] \\ &\times g_2(\|x_0 - x^*\|) \|x_0 - x^*\| \\ &= \bar{g}_3(\|x_0 - x^*\|) \|x_0 - x^*\| \\ &< \|x_0 - x^*\| < \bar{r}_3. \end{aligned}$$

Then, the conclusions of Theorem 2.1 hold, if we drop the hypothesis $b+c \neq 0$, and replace q, g_3, r_3 by \bar{q}, \bar{g}_3 and \bar{r}_3 , respectively.

Remark 2.3. (a) The radius r_1 was obtained by Argyros in [4] as the convergence radius for Newton's method under condition (2.4)-(2.7). Notice that the convergence radius for Newton's method given independently by Rheinboldt [18] and Traub [20] is given by

$$\rho = \frac{2}{3L} < r_1.$$

As an example, let us consider the function $f(x) = e^x - 1$. Then $x^* = 0$. Set D = U(0, 1). Then, we have that $L_0 = e - 1 < l = e$, so $\rho = 0.24252961 < r_1 = 0.324947231$.

Moreover, the new error bounds [4, 5, 6, 7] are:

$$||x_{n+1} - x^*|| \le \frac{L}{1 - L_0 ||x_n - x^*||} ||x_n - x^*||^2$$

whereas the old ones [15, 17]

$$||x_{n+1} - x^*|| \le \frac{L}{1 - L||x_n - x^*||} ||x_n - x^*||^2.$$

Clearly, the new error bounds are more precise if $L_0 < L$. Clearly, we do not expect the radius of convergence of method (1.2) given by r_3 to be larger than r_1 since $r_3 \leq r_1$.

- (b) The local results can be used for projection methods such as Arnoldi's method, the generalized minimum residual method(GMREM), the generalized conjugate method(GCM) for combined Newton/finite projection methods and in connection to the mesh independence principle in order to develop the cheapest and most efficient mesh refinement strategy [4, 5, 6, 7].
- (c) The results can be also be used to solve equations where the operator F' satisfies the autonomous differential equation [5, 7, 15, 17]:

$$F'(x) = P(F(x)),$$

I. K. Argyros and S. George

where P is a known continuous operator. Since $F'(x^*) = P(F(x^*)) = P(0)$, we can apply the results without actually knowing the solution x^* . Let as an example $F(x) = e^x - 1$. Then, we can choose P(x) = x + 1 and $x^* = 0$.

(d) It is worth noticing that method (1.2) are not changing if we use the new instead of the old conditions [19]. Moreover, for the error bounds in practice we can use the computational order of convergence (COC)

$$\xi = \sup \frac{ln \frac{\|x_{n+2} - x_{n+1}\|}{\|x_{n+1} - x_n\|}}{ln \frac{\|x_{n+1} - x_n\|}{\|x_n - x_{n-1}\|}}, \quad \text{for each } n = 1, 2, \dots$$

or the approximate computational order of convergence (ACOC)

$$\xi^* = \sup \frac{\ln \frac{\|x_{n+2} - x^*\|}{\|x_{n+1} - x^*\|}}{\ln \frac{\|x_{n+1} - x^*\|}{\|x_n - x^*\|}}, \quad \text{for each} \quad n = 0, 1, 2, \dots$$

instead of the error bounds obtained in Theorem 2.1. (e) In view of (2.5) and the estimate

$$|F'(x^*)^{-1}F'(x)| = |F'(x^*)^{-1}(F'(x) - F'(x^*)) + I|$$

$$\leq 1 + |F'(x^*)^{-1}(F'(x) - F'(x^*))|$$

$$\leq 1 + L_0|x - x^*|$$

condition (2.7) can be dropped and M can be replaced by

$$M(t) = 1 + L_0 t$$

or

$$M(t) = M = 2,$$

since $t \in [0, \frac{1}{L_0})$.

3. Numerical examples

We present numerical examples in this section.

Example 3.1. Let $X = Y = \mathbb{R}^3$, $D = \overline{U}(0,1)$. Define F on D for $v = (x, y, z)^T$ by

$$F(v) = \left(e^x - 1, \frac{e - 1}{2}y^2 + y, z\right)^T.$$
(3.1)

Then, the Fréchet-derivative is given by

$$F'(v) = \begin{bmatrix} e^x & 0 & 0\\ 0 & (e-1)y+1 & 0\\ 0 & 0 & 1 \end{bmatrix}.$$

Notice that
$$x^* = (0, 0, 0), F'(x^*) = F'(x^*)^{-1} = diag\{1, 1, 1\}, L_0 = e - 1 < L = e, M = 2$$
. Then, for $a = 1, b = -2, c = 4$, the parameters are $r_1 = 0.3249, r_p = 0.1709, r_2 = 0.2286, r_q = 0.2366, r_3 = 0.2157.$

Example 3.2. Let X = Y = C[0, 1], the space of continuous functions defined on [0, 1] be and equipped with the max norm. Let $D = \overline{U}(0, 1)$. Define function F on D by

$$F(\varphi)(x) = \varphi(x) - 5 \int_0^1 x \tau \varphi(\tau)^3 d\tau.$$
(3.2)

We have that

Ì

$$F'(\varphi(\xi))(x) = \xi(x) - 15 \int_0^1 x \tau \varphi(\tau)^2 \xi(\tau) d\tau, \text{ for each } \xi \in D.$$

Then, we get that $x^* = 0$, $L_0 = 7.5$, L = 15, M = 2. Then, for a = 1, b = -2, c = 4, the parameters are

$$r_1 = 0.6667, r_p = 0.0667, r_2 = 0.1333, r_q = 0.0861, r_3 = 0.1272.$$

Example 3.3. Returning back to the motivation example at the introduction on this paper, we have $L = L_0 = 146.6629073..., M = 2$. Then, for a = 1, b = -2, c = 4, the parameters are

$$r_1 = 0.0045, r_p = 0.0041, r_2 = 0.0136, r_q = 0.0051, r_3 = 0.0083.$$

References

- S. Amat, S. Busquier and J.M. Gutiérrez, Geometric constructions of iterative functions to solve nonlinear equations, J. Comput. Appl. Math., 157 (2003), 197–205.
- [2] I.K. Argyros, Quadratic equations and applications to Chandrasekhar's and related equations, Bull. Austral. Math. Soc., 32 (1985), 275–292.
- [3] I.K. Argyros and D. Chen, Results on the Chebyshev method in Banach spaces, Proyecciones, 12(2) (1993), 119–128.
- [4] I.K. Argyros, A unifying local-semilocal convergence analysis and applications for twopoint Newton-like methods in Banach space, J. Math. Anal. Appl., 298 (2004), 374–397.
- [5] I.K. Argyros, Computational theory of iterative methods, Series: Studies in Computational Mathematics, 15, Editors: C.K. Chui and L. Wuytack, Elsevier Publ. Co. New York, U.S.A, 2007.
- [6] I.K. Argyros and S. Hilout, Weaker conditions for the convergence of Newton's method, J. Complexity, 28 (2012), 364–387.
- [7] I.K. Argyros and S. Hilout, Numerical methods in Nonlinear Analysis, World Scientific Publ. Comp. New Jersey, 2013.
- [8] V. Candela and A. Marquina, Recurrence relations for rational cubic methods II: The Chebyshev method, Computing, 45 (1990), 355–367.
- [9] C. Chun, P. Stanica and B. Neta, Third order family of methods in Banach spaces, Computers and Math. Appl., 61 (2011), 1665–1675.

423

I. K. Argyros and S. George

- [10] J.M. Gutiérrez and M.A. Hernández, Recurrence relations for the super-Halley method, Computers Math. Appl., 36 (1998), 1–8.
- [11] M.A. Hernández and M.A. Salanova, Modification of the Kantorovich assumptions for semilocal convergence of the Chebyshev method, J. Comp. Appl. Math., 126 (2000), 131–143.
- [12] M.A. Hernández, Chebyshev's approximation algorithms and applications, Comp. Math. Appli., 41 (2001), 433–455.
- [13] M.A. Hernández, Second-Derivative-Free variant of the Chebyshev method for nonlinear equations, J. Opti. Theory and Appl., 104(3) (2000), 501–515.
- [14] J.L. Hueso, E. Martinez and C. Tervel, Convergence, efficiency and dynemics of new fourth and sixth order families of iterative methods for nonlinear systems, J. Comput. Appl. Math., 275 (2015), 412–420.
- [15] L.V. Kantorovich and G.P. Akilov, Functional Analysis, Pergamon Press, Oxford, 1982.
- [16] Á.A. Magreñán, Estudio de la dinámica del método de Newton amortiguado (PhD Thesis), Servicio de Publicaciones, Universidad de La Rioja, 2013. url:http://dialnet.unirioja.es/servlet/tesis?codigo=38821
- [17] M.S. Petkovic, B. Neta, L. Petkovic and J. Džunič, Multipoint methods for solving nonlinear equations, Elsevier, 2013.
- [18] W.C. Rheinboldt, An adaptive continuation process for solving systems of nonlinear equations, In: Mathematical models and numerical methods (A.N.Tikhonov et al. eds.) pub. 3(19), 129–142 Banach Center, Warsaw Poland.
- [19] J.R. Sharma, Some fifth and sixth order iterative methods for solving nonlinear equations, Ranji Sharma Int. Journal of Engineering Research and Applications, Vol.4, Issue 2 (Version 1), February 2014, 268–273.
- [20] J.F. Traub, Iterative methods for the solution of equations, Prentice- Hall Series in Automatic Computation, Englewood Cliffs, N. J., 1964.
- [21] X. Wang and J. Kou, Semilocal convergence and R-order for modified Chebyshev-Halley methods, Numerical Algorithms, 64(1) (2013), 105–126.

424